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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper comprises four Sections — A, B, C and D.
(it)  There are 37 questions in the question paper. All questions are
compulsory.
(iti) Section A — Questions no. 1 to 20 are very short answer type questions,
carrying one mark each.
(iv) Section B — Questions no. 21 to 27 are short answer type questions,
carrying two marks each.
(v)  Section C - Questions no. 28 to 34 are long answer type questions,
carrying three marks each.
(vi) Section D — Questions no. 35 to 37 are also long answer type questions,
carrying five marks each.
(vii) There is no overall choice in the question paper. However, an internal
choice has been provided in 2 questions of. 1. .mark, 2 questions of
2 marks, 1 question of three marks and all the 3 questions of five marks.
You have to attempt only one of e choices in such questions.
(viit) In addition to this, separate uctions.are given with each section and
question, wherever necessar.
(ix)  Use of calculators and l@ les is not permitted.
(x) You may use the wmg values of physical constants wherever
necessary. §
c=3x108m/s
h = 663 x 1073 Js
e=16x10"12¢C
Ug = 47 X 107" TmA™!
gg= 8854 x 10712 C2 N1 m2
1 o 9x109Nm2C2
4me
0
Mass of electron (m,) = 9-1 x 10731 kg
Mass of neutron = 1-675 x 10727 kg
Mass of proton = 1-673 x 1027 kg
Avogadro’s number = 6-023 x 1023 per gram mole
Boltzmann constant = 1-38 x 10723 JK!
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1. 9SS 147 % 9 & ST DIy WA oid fhdl 59 § a1 & | I8 @il
3GYT Bl AT & IR Hia I GHAA dfgehl i Hild FGgR HLAT & | 39 59

YT B 1
(A) 147
(B) 162
(C) 133
(D) 151
2. = feu o form 9uf o yemer o foru foreft =i o fisH & fcuaw famed i
1 7 &9 Y BT ? 1
(A) T Fot
(B) e aut
(C) e N
(D) B9 &g\@
3. w@éuﬁa%w@%@aﬁﬁaﬁqm%maﬁﬂﬁ%? 1

(A)  Toreft qeaTY] IR SGeRT HfTh W et |

(B) I % I TR $eiaid 31 W HRRA folHl ot o YHE § IIGHAT
L 8 |

(C) TRHTY] T TR ST qAT ITHT Pl AT IGh hrg T Afgd gl
2 |

(D) 39 Uied grI 9] o TTRiea ot Tenfuad fomam e |

4. 05 eV HE%e & forel ifcaeh I58 W 1 eV 3R 2 eV il & Bl HunTd
JMUAT LA B | 3T ST TR B Afeehdd Sofid JehINTeh-Soiegl ehl TSt

ST ST T BT 1
A 1:2
B 1:1
@ 1:3
(D) 1:4
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SECTION A

Note: Select the most appropriate option from those given below each

question :

1. A biconvex lens of glass having refractive index 147 is immersed in a
liquid. It becomes invisible and behaves as a plane glass plate. The
refractive index of the liquid is 1
(A) 147
(B) 162
(C) 133
(D) 151

2. For a glass prism, the angle of minimum deviation will be smallest for
the light of 1
(A)  red colour.

(B)  blue colour. ®
(C)  yellow colour. S&\Q

(D) reen colour. &
8 S

NS
3. Which of the follow1@tatements is not correct according to Rutherford
model ? § 1

(A)  Most of the space inside an atom is empty.

(B) The electrons revolve around the nucleus under the influence of
coulomb foree acting on them.

(C) Most part of the mass of the atom and its positive charge are
concentrated at its centre.

(D)  The stability of atom was established by the model.

4. Photons of energies 1 eV and 2 eV are successively incident on a metallic
surface of work function 0-5 eV. The ratio of kinetic energy of most
energetic photoelectrons in the two cases will be 1
(A) 1:2
B 1:1
) 1:3
D) 1:4
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5. WWW%W%@SWW]?@%WWW Cril

AT B 2 1
(A)  FUSE § B i gE&A
(B) FUSTH hl FTIXY-HIC HT &THA
(C) S ¥ yargd g/
(D) FUSH & B H1 ugred
6. A ¥ gfg 8 W forel u1g 1 =TcTshal § wHHT B I HROT @ 1
(A) SAFEHl o T&AT Tcd | HH BT |
(B)  Ufcigehal H &l g |
(C) Taenf=a a1 § st BT |
(D) H1ed gad 9 H gig g |

7. T FEEN YiqUes Rt 9l 9 9ol § wfoa € | a9 1
(A) I Ylquees o &0 W favar=r g |
(B) Bl Ufcliush | Afereh gy i
(C) a@ﬂﬁﬁ%%ﬁﬁ%@%ﬂﬁ%@‘ﬂl
D) aﬁqﬁﬁaﬁﬁ@%wﬁamsﬁm

8. ﬁﬁﬁmﬁ%ﬁﬁmﬁgﬂ%aﬁaﬁimwﬁmaﬁmﬁ%
3 | 98 foamg oTe F o9& 1 o149 ol g | afg 37maw 61 gl g X & 9,
ql SN W HREAd S BT 1
(A) 2F
(B) F/2

(C) F/4
(D) F/8

9. i frelt S¢ g8 ¥ T aTen e fogd e Y g, 91 389 I8
fehTlT ST Fehel 8 Toh 1
(A) T IS H HIE 4 AT IREg T 7 |
(B) 39 I3 & Wit wohaHH fogd-aa faemm 2 |
(C) 39 T3 & iR T forg @ g forg 7o foregq fawa o shean 2
(D) Y3 o ofiqt Ay Iufedrd 7 |

i
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The magnetic dipole moment of a current carrying coil does not depend
upon 1
(A) number of turns of the coil.

(B)  cross-sectional area of the coil.

(C)  current flowing in the coil.

(D) material of the turns of the coil.

The conductivity of a metal decreases with the increase in temperature
on account of 1

(A) decrease in number density of electrons.
(B)  decrease in resistivity.

(C)  decrease in relaxation time.

(D) increase in mean free path.

Two unequal resistors are connected in series across a battery. Then the 1
(A) potential difference acros%e‘ach resistor is the same.

(B) current in the smalle %émstor islarger.

(C) potential dlffereaneogﬁross the bigger resistor is greater.

(D) power dissipai@\ both resistors is the same.

A point charge is sifuated at an axial point of a small electric dipole at a
large distance from it. The charge experiences a force F. If the distance of

the charge is doubled, the force acting on the charge will become 1
(A) 2F
(B) F/2
(C) F/4
(D) F/8
If the net electric flux through a closed surface is zero, then we can infer 1

(A)  no net charge is enclosed by the surface.
(B)  uniform electric field exists within the surface.
(C) electric potential varies from point to point inside the surface.

(D) charge is present inside the surface.
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10. Torell wga geraxl o HAMMgyas I By gl Bl & 1
(A) R 1 Wi gt @ e |
(B)  AFeh1 <l ®ishd gl § & |
(C) A st Hihd gl & WM |
(D) geAI i AfcTeh! i &g & TUH |

Fie : I9FH IR G Rew Tl $1 Jid Her

11. Trelt afrforent i @raTs o IUh! STIIRI-HIE o &A% H Tl I qiEd
fopu 3ol WU Wk wew gt w d TS 7 | $H RIS W EE-Sehcd

T B ST | 1
12. SR % WA Hied o FAJIR SoAF <hl shedl <l Tifer gaa ¢ sifedl qureed i
e R | 1
@‘TW
B-&T T ek 3T T TRl 'Q > g g Bidl B | 1

13. W%Tﬂ%aqqlgﬁ—q&m‘cﬁ Terelt SrehTeT fortor # 38 59 & &0
U 3Te9qH faareM \% |saﬁ—qé;qa9fé% IR hl HIH

2| N 1
14. foreht srggresh ugred & grn grahi & @ B E | 1
15. et Tra®iR & s d gt @ a6 & fow wefaq iR

1 3fiet &1 39T foha SiTaT B | 1

16. Tl i b frewn 36w § 1 0 Cu i it frean sma i | 1
AAAT
fortt soiergil 3T Topet Te <l =Tl T|H 8 | 319 Telg € Sl quTeed oh
AHA4Td 3ATd $||\aq | 1
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10. The focal length of the objective of a compound microscope is 1
(A) greater than the focal length of eyepiece.
(B) lesser than the focal length of eyepiece.
(C)  equal to the focal length of eyepiece.
(D)  equal to the length of its tube.

Note: Fillin the blanks with appropriate answer :

11. The number of turns of a solenoid are doubled without changing its
length and area of cross-section. The self-inductance of the solenoid will
become times. 1

12. According to Bohr’s atomic model, the circumference of the electron orbit
is always an multi@of de Broglie wavelength. 1

\
@\

In B-decay, the par@and daughter nuclei have the same number of

OR

1
13. A ray of light on passing through an equilateral glass prism, suffers a
minimum deviation-equal to the angle of the prism. The value of
refractive index of the material of the prism is . 1
14. The magnetic field lines are by a paramagnetic substance. 1
15. Laminated iron sheets are used to minimize currents in the
core of a transformer. 1

Note: Answer the following :

16. The nuclear radius of ?;Al is 3:6 fermi. Find the nuclear radius of ggCu. 1

OR
A proton and an electron have equal speeds. Find the ratio of de Broglie
wavelengths associated with them. 1
55/1/3 P.T.O.
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99 LED % fot=q 4 81 Si 31 Ge 1 TN 1 T8 HLHhd @ ?
e g SR foeemas ar o = fave Fifs |
1A digdt § Jhg foha Jehr frelt p-n IfY SMEle & 3 TR H A H
TuTfd St ] 2 \\Q®

&§
\Q‘b ECUERC]
Pt e 6t 2 0 o e e s e e 61 s
3 fepeft p-n Wi 1 smfefes so@ e &, @
(a) B TR HI I, adqn

(b) favwa y=R =1 94 forg YR gwTfera grat @ 2

SR W] HISA 1 IGANT hich IEGISM THTY] hi nal hefl H IRGHAT HLd
T FOrH b o o fore s s Hifve |
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ST T foh B-FHN o Icdoi hl IfhaT T Jeh1i3Teh-Solere Al o Icdoid oh
gfsearn fohe TepR for Bl 2 |

55/ 1/3

"Download all NOTES and PAPERS at StudentSuvidha.co


http://studentsuvidha.com/
http://studentsuvidha.com/

17.  The variation of the stopping potential (V) with the frequency (v) of the
light incident on two different photosensitive surfaces M; and My is
shown in the figure. Identify the surface which has greater value of the
work function. 1

v M
(o] 1 M2
0 v

18. Why cannot we use Si and Ge in fabrication of visible LEDs ? 1

19. Differentiate between conduction current and displacement current. 1

20. How does an increase in do&ng coneentration affect the width of
depletion layer of a p-n Juncg&l diode ? 1

&
S
@Q\Q
N SECTION B

21. Explain the terms  ‘depletion layer’ and ‘potential barrier’ in a
p-n junction diode. How are the (a) width of depletion layer, and
(b) value of potential barrier affected when the p-n junction is forward
biased ? 2

22, Using Bohr’s atomic model, derive the expression for the velocity of
electron revolving in the nt® orbit of hydrogen atom. 2

OR
Explain, how the process of emission of photoelectrons is different from
the process of emission of B-particles. 2
55/1/3 P.T.O.
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B

A
R o
I I
<—X—> d
(a) 31 /i o oft= fepell wh IR @ ght x W feurd fopelt foimg P ot grarehi &1
31 ShIfT |
(b) G x @A, 0<x<dh Y, Jrehia &F § fo=rwor 1 M. F T T
gifre | 2

24, a3l 90T o qumy < qiaen fafaw | gt fagrea & 3w e, 39
feufa o S9 v foreft gom mem @ fore wewm §oma a7, T guaw

ITAYSS T3 1 FHFH I HIfT | 2
3tera

ww@wwmﬁs@msmaa%@ f-o-l @

Fcqa HIT | 2

25. w3 WA wqd H ag%mg o1 it ffgy | @ R W
qaeﬁ?ﬁaﬁmT@Tzaw%&ﬁmmmﬁﬂa%@maﬁﬁ
T AT Ny 3R %%lwwgﬂlﬁmﬁwwmaﬂﬁm 2

26. TorHl TR dfgeh @IiE 6l Q1 Afgemsti & 9 % & W 1 § TR &
qUId: W TR B | FEcl YehUl § i €A Wl qUeEanh K o fRdl ek | wa
TR | 8 YT H 36 HAM fomisi, g qudgdre Ky 3T Ky % & Teehi §
M@ § UMW AR 90 T 7 | F1 Yol § denfer i enfar aoe g |

K, Ky 3 K, ¥ "eY T I | 2
// 12 K, 12
N K — T _|_|___H_
/ 1/2 K, 1/2
| |
d d
(SRt 1) (TRTTT 2)
27. et i ag i wrifafa & fagra i samen Fife | sas 3w gro foredt
mﬁﬂﬁﬁa%maﬁﬁﬁﬁamﬁ%%ﬁwgaﬁ@@ﬁﬁm 2
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23. Two long straight parallel wires A and B separated by a distance d, carry
equal current I flowing in same direction as shown in the figure.

A p B
O O)
I I
<«~—X—>

(a)  Find the magnetic field at a point P situated between them at a
distance x from one wire.

(b)  Show graphically the variation of the magnetic field with distance

x for 0 <x < d. 2
24. Define wavefront of a travelling wave. Using Huygens principle, obtain
the law of refraction at a plane interface when light passes from a denser

to rarer medium. 2
OR
Using lens maker’s formula, derive the thin lens formula 1 = % - % for a
biconvex lens. K\Q 2
25. Define the term ‘Half-li f a radioactive substance. Two different

radioactive substance&&ave half-lives T;{ and T9 and number of
undecayed atoms at @&nstant N, and Ny, respectively. Find the ratio of
their activities at t@t instant. 2
26. The space between the plates of a parallel plate capacitor is completely
filled in two ways: In the first case, it is filled with a slab of dielectric
constant K. In the second case, it is filled with two slabs of equal
dimensions but dielectric constants K; and K, respectively as shown in
the figure. The capacitance of the capacitor is same in the two cases.
Obtain the relationship between K, K; and K. 2

// 1/2 Ky 1/2

R K N
11
/ 12 K, 2
|
d d
(Case 1) (Case 2)
27. Explain the principle of working of a meter bridge. Draw the circuit
diagram for determination of an unknown resistance using it. 2
.55/1/3 13 P.T.O.
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i) TSR yunferat o fomm =t (Y9-uesie) |

(i) Al i Ihg o J&01 % T gl o IRl ° 3

frafafea g & fou sro df 3
(a) & fgferl wam # o < %o fargati W wehm <1 o 3 Bt 2 |
(b)  Torell Uieitise R UTUTiHG Feprel <hl disial S8 T Srfed 3fgferd Tera

aﬁaﬂw@w@aﬁ%&g\@
(¢) Uehd forlt faadq T, J€ Jod IhI @I 1 ST fohay Srat =,

ﬁmw@&m%ww@wmﬁ@@ﬁ%

T p-n G SEIST_HI I Feh [hdl QU T fosespil &1 afuy @
difgu | sgehl wrifafa 6 saren hifse qen fFesh it fta dicedar & fo=mon
%I T | 3

(a) @ HAl % 9.9 96 (emf) Eq 3R Eq AT 3 AReh JiaU9 ShAS: 1;
3R 1y & | IS 3Ah UTTd TASH b Foreht amar wfaie R & wnfora femam
STl B, $h qed 9.9l 9 (emf) AU AN Iy & ol =<t
eqd HINT | g WIHT 7 QHT 8 Teh-g8- ol T8TIaT L 18 3 |

(b) 3I9 YK H I Sl I HIEH § IR TA% K1 9.9l 9 (emf)
E=5Vady Al Il r=2Q 7, R =10 Q & &m& Ifauy & &l
T gleedl IRehferd shitly | 3
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SECTION C

28. (a) Write the expression for the speed of light in a material medium of
relative permittivity €, and relative magnetic permeability ..

(b)  Write the wavelength range and name of the electromagnetic
waves which are used in (i) radar systems for aircraft navigation,

and (ii) Earth satellites to observe the growth of the crops. 3

29. Give reasons for each of the following : 3

(a) The intensity of light at some points on the screen in Young’s

double slit experiment is zero.

(b)  The intensity of light transmitted by a polaroid is less than the
intensity of the unpola@d light incident on it.

(c) In the single sh&l fraction experiment, some coloured fringes
around the ce white maximum are observed on the screen

when one us@a source of white light.

30. Draw the circuit diagram of a full wave rectifier using two p-n junction
diodes. Explain its working and show input and output voltage

variations. 3

31. (a) Two cells of emf E; and E9 have their internal resistances r; and
r9, respectively. Deduce an expression for the equivalent emf and

internal resistance of their parallel combination when connected
across an external resistance R. Assume that the two cells are
supporting each other.

(b) In case the two cells are identical, each of emf E = 5 V and internal
resistance r =2 Q, calculate the voltage across the external
resistance R = 10 Q. 3

55/1/3 15 P.T.O.
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(a) iUy # qreEfves g (1) fole =9tk Ted shifsrg |
(b) @t B H T T VI I forewon =1 16 gRI g2misy |

(a) Torelt umaTdl gamhR FHueet, TEehl s r qen Wi i T N &, 9
g (1) FaTied & W ® | 39 FUSell 8§ Teg T B % U sFeieh
fafew |

(b) ¥ Wi foh IUYh FuScll I YZ T H 38 g i Ha-foig T Wd
g feua foran R 2 | fog (x, 0, 0) W 30 HUSTH o B0 Icqd Fraehld
&5 % W o Toq s5ofeh ogcuel hifVT |

AT

(a) WW@WW@MWWWWW
fafeu | \Q
) %mﬁaqﬁuﬂaws@%mﬁxwwmﬁwqmél

@ wﬁ@(ﬁxoaoumaﬁmmmwmﬁ
ﬁwﬁwﬁaﬁa%mmw%?

(i) 39 Ufiev s uume afeliy = B 2
mﬁ%%iYa%mﬂﬁﬁrmﬁ%,@a-waﬁﬂﬁhW 2§;Xﬁ
9T & AT 8 |

2‘:’)52Y—> 231X+ JHe + 3

S AT, Fafd AIMe 3R o0 H §9H Fol A0 A HAI:
7-8 MeV, 7-835 MeV 3 7-07 MeV & | I8 YaUNON T@d ¢ foh s aretm
Haf s Iafsa sraeen § 78 & qen sifufsen A ot & sweh wefierd
JUET HTd §U IcHSTA o5 <l AT AT HIFT |

(0-3hUT <hT ZeIHM = 6-68 x 1027 kg)
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32. A resistance R and a capacitor C are connected in series to an
ac source V = V|, sin wt.

(a)  Obtain the expression for the instantaneous current (I) in the
circuit.

(b)  Show graphically variations of V and I as a function of wt. 3

33. (a) Write an expression of magnetic moment associated ‘with a

current (I) carrying circular coil of radius r having N turns.

(b)  Consider the above mentioned coil placed in YZ plane with its
centre at the origin. Derive expression for the value of magnetic
field due to it at point (x, 0, 0). 3

OR

(a)  Define current sens1t1v1ty&f a galvanometer. Write its expression.

(b) A galvanometer ha%@ﬁlstance G and shows full scale deflection for
currentI . \QQ’”

(1) How c@ it be ' converted into an ammeter to measure
currer%up tody (Ig>Ig) ?

(11) What is-the effective resistance of this ammeter ? 3

34. The nucleus 2252Y, initially at rest, decays into 2§;X by emitting an

o-particle

235

92Y — 231X + He + energy.

The binding energies per nucleon of the parent nucleus, the daughter
nucleus and o-particle are 7-8 MeV, 7-835MeV and 7-07 MeV,
respectively. Assuming the daughter nucleus to be formed in the
unexcited state and neglecting its share in the energy of the reaction, find
the speed of the emitted a-particle. (Mass of o-particle = 6-68 x 10~27 kg) 3
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35. (a)

(b)

(a)

(b)

36. (a)
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Lus 9
3y feufd o o foret @ieita quaeie 1 fortor s it foew sifan
gfafers =0 W &9dT 2 | 39 gLe3ieh i fawed &wal & e =i
fafey |

forell @miefla qiaeish o AMGRIs | I BId gl 20 m 3R 3Heh
ARt < BIE gl 1em @ |

(i) 39 el &l S Taedd T Hifm |

(i) 9 39 F® H IWM FHHT HlG&H (H R @ g,
ql AfYgYTe oiF gRI o+ fdfers @1 S §1d <hife | feam mn
2 fop ==m 1 =AW 35 x 106 m aAT-=HT T Hem I B
38 x 108m%¥ | ®
N
ﬁéﬁmmm@a&m%mﬁ%% | Y01 T T g YT STl
%%ﬁmwg Brﬁﬁmam%mﬁﬁmawamﬁ%mﬁm

R Hifere qen sem gdur T, 1 = —Eg-qa@ﬁim

w5 fore fopel oraasaa o & @A, s Mol gss sk
=1 20 cm B, % WA 30 cm g0 W fEd 7 | Al < % wqred W
JIET 1-5 87, 1 o+ Jfdfers shi fefd iR i @ Sife |

TRH W 1 IWM Hd g, R B % whEdE smEw fadw o %
Tl @I o R 3 g 8 G x o fopell forg W forga-a & fom
ST Scdd hifad, Tafeh

i) 0<x<R,3WR

(i) x>R.
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SECTION D

35. (a) Draw the ray diagram of an astronomical telescope when the final
image is formed at infinity. Write the expression for the resolving
power of the telescope.

(b)  An astronomical telescope has an objective lens of focal length
20 m and eyepiece of focal length 1 cm.

1) Find the angular magnification of the telescope.

(i1)  If this telescope is used to view the Moon, find the diameter
of the image formed by the objective lens. Given the
diameter of the Moon is 35 x 106am and radius of lunar orbit
is 3-8 x 108 m. N 5
«& oR
N
(a)  An object is plac@ front of a concave mirror. It is observed that
a virtual im Qis formed. Draw the ray diagram to show the

image formation and hence derive the mirror equation % _1 + 1

u v

(b)  An object is-placed 30 cm in front of a plano-convex lens with its
spherical surface of radius of curvature 20 cm. If the refractive
index of the material of the lens is 15, find the position and nature

of the image formed. 5

36. (a) Using Gauss law, derive expression for electric field due to a
spherical shell of uniform charge distribution ¢ and radius R at a

point lying at a distance x from the centre of shell, such that
(1) 0<x<R,and

(i) x>R.
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(b) I3 ToRIq-8F THTWH g AT GTCHS x b &F § AG + x [T & SAfe
R B | U] S8 TY-T1Y RUMHS x & & B — x foon & e1qfew =5
A qRATIT o |1 HRAA 2 | 39 &F 1 71 E = 200 N/C x>0
T @em E = - 200 N/C x < 0% folU g | &8 20 cm 3R B3 5 em
*1 HIS o fafervet x-o1e & egfew @ ywR o ® fo6 saem
%G Yo-fog W dA Th HHAA B x = + 10 cm IR GEI HAR
x=-10ecm W2 |

Elﬁﬁﬁl'q:
(i) Tafcvet @ gt o aren e afedEt Tt |
(i)  faferoet & o ufed a1 oA | 5

AT

() Felt o frgadd E § T el ¢ wowew: fRm @ faeg smem

2
a; 3 g, 3 Frer 1 Forfem 3 5 fore i T B |
(b) el fogea forg @q)%wwﬁmweﬁﬁqamwﬁ
©  + 110, — 1 uCER + 2 10 i forg smw oW § ThgE § s
20 W E | ST ST 10 em 4 % Pl TR Bg % A
TTfYd st § fopan 9 $a SRl afenfora i | 5

87. (a) TRl fioaMHiel &l STIATHR RETE! HUSH! T HRRG Td-3TE0 o foTu

SASTeh Scqd I | Fraehld &1 ol ST AT SR Sl § 2

(b)  ToREl o1 W 10 kV o favaT=mw T @i foham T g G I8 x-&
e w8 | I8 y-378 o AW A B = 2 x 103 T o THEHH
JEEhIT & H TOT hdl 8 | 38 99 hl BrsAn Fa il |
(0-3UT ST GEIUH = 6-4 x 1027 kg <fifQ) 5

Jroran

(a) AHIhd ARG hl TegEar 4 fhdl S=mht grawim fi wrifafa &
e it | Frefefad 6t same % fog s @i
(i)  ITAHIE o hig Ueford BiaT 2 |

(i) Y H dld (SHAR) o A R T IUAT Fomam ST 2 |
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(b)  An electric field is uniform and acts along + x direction in the
region of positive x. It is also uniform with the same magnitude
but acts in — x direction in the region of negative x. The value of
the field is E = 200 N/C for x > 0 and E = — 200 N/C for x < 0. A
right circular cylinder of length 20 cm and radius 5 cm has its
centre at the origin and its axis along the x-axis so that one flat
face is at x = + 10 cm and the other is at x = — 10 cm.

Find :

1) The net outward flux through the cylinder.

(i1)  The net charge present inside the cylinder. 5
OR

(a) Find the expression for the potential energy of a system of two

point charges q; and qq located at ?; and ?2), respectively in an

external electric field E ®
(b)  Draw equipotentia ﬁjr\faces due to an isolated point charge (- q)
and depict the e (¢ field lines.

(¢)  Three point ¢ es + 1 uC, — 1 uC and + 2 pC are initially infinite
distance apgt Calculate the work done in assembling these
charges at the vertices of an equilateral triangle of side 10 cm. 5

37. (a) Derive the expression for the torque acting on the rectangular
current carrying coil of a galvanometer. Why is the magnetic field
made radial ?

(b)  An o-particle is accelerated through a potential difference of 10 kV
and moves along x-axis. It enters in a region of uniform magnetic
field B = 2 x 1073 T acting along y-axis. Find the radius of its path.
(Take mass of a-particle = 6-4 x 1027 kg ) 5

OR

(a)  With the help of a labelled diagram, explain the working of a
step-up transformer. Give reasons to explain the following :
1) The core of the transformer is laminated.

(i1)  Thick copper wire is used in windings.
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(b) I 01 Q 1 20 cm A BT TGS IS PQ U gfay i a
faerll FaF Tl AAY 3R CC' W o B | 98 ©T 3 9l W a0
Fehdl B AT T8 HIEYT THHHAH Jrehid & B = 0-4 T 379 A I
TRl Fraeh o gal o " W TS 8 | 3TR@ H WY AR A, T
AT FEIH & A WER Arseq fumeti # § | afe gefen & i A
3R C 1 agueH e S, d 5ma i

i) 3H DS Bl v=10 cm/s % THEAF o F Tfd K4+ fag
LI MRl e, 3N

(i) UE HH % U T ufed | 5
x A X P X A
®
X B @( X
A4S c
x C X QQ)%.Q"Q X
N
@Q
$
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(b) A conducting rod PQ of length 20 cm and resistance 0-1 Q rests on
two smooth parallel rails of negligible resistance AA” and CC’. It
can slide on the rails and the arrangement is positioned between
the poles of a permanent magnet producing uniform magnetic field
B = 04 T. The rails, the rod and the magnetic field are in three
mutually perpendicular directions as shown in the figure. If the
ends A and C of the rails are short circuited, find the

) external force required to move the rod with uniform

velocity v = 10 cm/s, and

(il)  power required to do so. 5

Al
® v X
X B S&\(@
i o}
x C \@} Q X
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